NOTICE
mmm <<°°Q —U_sz r_.:o:v:._.nzo.u%_. amqmmm.ﬂzm.q__u_ " 22 1/2" 22 1/2°
purchasing this plon (the "Plan”):
< 1) the purchoser has acquired the (572) (572)
right to build or construct the
object or project sel out in the Plon ] L
(the “Project”) for his/her/its o o~
personal use only and nol for a - e
of$ A 8 0|3
or in port by ony meons whotsoever is ~ ~
strictly prohibited. -
3) Blueprints For The Handyman T11/2° (38)
#7B, 2316-27Ave N.E. shall not be liable for any One_quorter sheet A ~
Calgary, Alberta misuse or negligent use of thi 3/4" ‘plywood N
Canada, T2E 7A7 the Project or any tools used to
! construct the Project or for any
loss or domoge resulling therefrom.
NA
26 1/2" 26 1/2"
(673 ) (673 )
o C o
5" Lengt -
e"9%e 1/2” 26 1/2" B
Directions _ (673) __ (673) Wm c
C C L/
1) Loy out your moateriol os outlined in the suggested moterials layout c 1 c U
(Fig 1). Draw out all ports exactly os illustrated, including the 5" Length
letter designations, in pencil. Ensure to leave o small space between
cut lines to ollow for the width of the sow. Before cutting, double
check all measurements to ensure that they are correct. Always cut on c
the woste side of the line. When cutting ocross the groin tope the N/
edges with masking tope or clomp on 1/8" material to ovoid splintering.
Cut the 1 1/2" x 1 1/2" corners in piece B using a hond sow. Cut one FIGURE 4

end of eoch piece D to o 45 degree ongle, with the longest side of
piece D being 30". Pieces F ond G are cut with 45 degree corners each
end, the measurement for eoch is given to the longest edge.

45 . 45
2) Loy out piece D as shown (Fig 2). Make a center line through D by . [
measuring down 1 1/4" form top edge of D. Measure in 1 1/4" and 6" from
end of D to give your center points. With o compass set ot 1 1/4" draw
(] n.._\n.. circle around each cenler poinl. Measure from outside edges R 24" 24"
1/2" ond draw two lines. Cut oul the shape with o jigsaw to resemble g ¥
figure 2. Drill o 1" diometer hole on the 1 1/4" center mark for the s (610) (610) 45 45
dowel handle. Repeat for other D. ~ 1&\ G G _\ G N
||||| 7 One
3) Loyout pieces C (Fig 3). Drow your lines around all four sides with —_] - ]I ] ! x4
your square. Mark the tops of pieces C so that they don’t get put on 5' Length
upside down occidentally. Drill the center of the tops of pieces C 1" 20"
deep to accept the dowels, :m:_n.. dowel center markers. Mark and drill (508 )
holes in the underside of A, 1/2" deep. Sond ends of each dowel lo "
creote o toper to focilitote eosier insertion. Apply glue to dowels ond One 1” dio. Four 3/8" x 1-1/2"
assemble pieces C ond A. Place B in position and turn assembly on its — owel Bl aosn_m\ /
side. Predrill o hole through eoch leg into B (Fig 5) with o 1/16" bit.
Nail through C into B with one 2" finish nail each corner. Using pipe
clomps, lightly clomp A ond Cs together. Make sure the ossembly is MATERIAL LAYOUT
square before you leove it to let the glue set for one hour.
ovER FIGURE 1 )
.
3o m cx___.u_.mmW\mnwm_o__v.wsm
®© 1 L
-2 IN CENTER OF LEG FIGURE 5
Il\\\
&
(152)
1.1/4",
\ C
N
Moke o depth gauge > ,..W .
for your drill - by <
drilling through & =3
3/4" x 3/4" piece of wood + D ~le 41
. lengthwise. Cut wood to J N
give desired depth of drill ] 58
ond ploce over drill bit 1 1/8" R (32) 1.1/4" R (32) ~l- " “
depth
desired
' N
HANDLE DETAIL
DRILL DEPTH GAUGE FIGURE 3 CASTER
ILLUSTRATION 1 FIGURE 2
MATERIALS LIST MATERIALS LIST TOOLS TOOLS TOOLS
Two 5° 2x2 (1 v\n.: v\n.w
. Corpenters’ glue One 7' 1x4 (3/4"x3 1/2" Pencil 1" bit Dowel marker
ROLLING BEVERAGE CART - Nuﬁ.o.»m@u #111 Sandpoper One 6 1x4 (3/4"x3 1/2" Composs Hommer Pipe clomps
Wood filler One 5' 1x4 (3/4"x3 1/2" Hondsaow Measuring tape Square
Stain or paint m..o.. of 1" dowel Tablesow, or hand sow Noil set Pulty knife
Approx. Twenty 1 1/2" #8 flothead screws 8" of 3/8" dowel Drill Miter box 1/4" bit
Approx. Sixty 2" #8 flothead screws Four 2 1/2" casters, complete 1/16" bit Screw driver 1/8" bit
Approx. Eight # 8 flathead screws One quorter sheet 3/4" plywood




